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Enough (2) 

We DON'T HAVE ENOUGH time!! (2 answers) 

 This sheet deals with the word order when using enough. 

 You can have: adjective enough, verb enough or enough noun 

 

Choose the correct answer to fill in the blank spaces: 

1.  I'm not                b                  to go to Harvard University. 

 a) enough smart  b) smart enough    c) too enough smart 

2.  She didn't                a                  and now feels dizzy. 

 a) eat enough food b) eat food enough c) enough eat food 

3.  I can't                b                  for your generous donation! 

 a) enough thank you   b) thank you enough 

4.  Do you think Sue is                c                  to wear this gown? 

 a) enough thin  b) too enough thin c) thin enough 

5.  I can't hear! You're not speaking                a                 ! 

 a) loud enough  b) too enough loud c) enough loud 

6.  I hope we                c                  for the trip through the desert! 

 a) have gas enough b) enough have gas  c) have enough gas 

7.  Is the bath water                a                  for you? 

 a) hot enough  b) enough hot  c) too enough hot 

8.  Jim didn't                a                  to pass the test. 

 a) study hard enough   b) study enough hard 

9.  There should                a                  in the fridge for you. 

 a) be enough food b) be food enough c) enough be food 

10. I wonder if Bob is                c                  to beat Steve. 

 a) enough fast  b) enough too fast c) fast enough 

11. I quit!! I've                b                  of this terrible job! 

 a) too enough had b) had enough  c) enough food 

12. Move over, I don't                a                  to sit down. 

 a) have enough room   b) have room enough 

13. I think $1000 is                b                  for the trip. 

 a) money enough b) enough money c) too enough money 

14. We don't                b                  for all our furniture in our house. 

 a) have space enough   b) have enough space 

15. The car's engine was                a                  to climb the steep hill. 

 a) not strong enough   b) not enough strong 

16. They didn’t                b                  to play the soccer match. 

 a) have players enough  b) have enough players 


